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Example 4.1 (cont)
The results of a multiple regression analysis of BWT on RACE2 and RACE3

are given in Table 4.8. Note that the P-value for RACE (P = 0.008) relates to

the test of the hypothesis that there is no regression effect, namely that

for the variables RACE2 ( ) and RACE3 ( ). The test statistic in this

case is the one in (4.36).

Let us extend the regression model to include the categorical variables

SMOKE and history of hypertension (HT: 0 = No, 1 = Yes). The results are

displayed in Table 4.9. Note that the P-value for RACE now relates to the

hypothesis

and that the test statistic used for calculating the P-value is (4.39).

H0 1 2 0: β β= = ,

β1 β2

Table 4.8 Results of fitting a linear regression model of BWT on the categorical 
variable RACE, n = 189.

Variable Estimate SE t P 95% CI

RACE 0.008

RACE2 -384 158 -2.43 0.016 (-696, -72.6)

RACE3 -300 114 -2.64 0.009 (-524, -75.5)

Constant 3104 72.9 42.6 <0.001 (2960, 3248)

H0 3 4 0: β β= = ,

Table 4.9 Results of fitting a linear regression model of BWT on RACE, SMOKE, 
and HT, n = 189.

Variable Estimate SE t P 95% CI

RACE < 0.001

RACE2 -426 153 -2.79 0.006 (-727, -125)

RACE3 -450 116 -3.89 < 0.001 (-678, -222)

SMOKE -423 108 -3.91 < 0.001 (-637, -210)

HT -383 205 -1.87 0.063 (-787, 20.6)

Constant 3353 91.6 36.6 < 0.001 (3172, 3534)
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